International Journal of Pure and Applied Mathematics

Volume 51 No. 2 2009, 163-170

Invited Lecture Delivered at Fifth International Conference of Applied Mathematics and Computing (Plovdiv, Bulgaria, August 12–18, 2008)

# CRITERION FOR THE FUNDAMENTALLY MATRIX OF THE SPECIAL DIFFERENTIAL SYSTEMS

Anna Macurova<sup>1 §</sup>, Dusan Macura<sup>2</sup> <sup>1</sup>Department of Mathematics, Informatics and Cybernetics Faculty of Manufacturing Technologies with the Seat in Presov Technical University of Kosice Bayerova 1, Presov, 080 01, SLOVAK REPUBLIC e-mail: anna.macurova@tuke.sk <sup>2</sup>Department of Mathematics Faculty of Humanitarian and Natural Sciences University of Presov 17 November 1, Presov, 080 01, SLOVAK REPUBLIC e-mail: macura@unipo.sk

**AMS Subject Classification:** 34A34 **Key Words:** differential system, fundamentally matrix, matrix sequence

## 1. Notations and Preliminaries

We consider the differential system

$$x'(t) = (a(t)A_n + b(t)E_n)x(t),$$
(1)

where  $a(t), b(t) \in C_0(J = \langle t_0, \infty \rangle, R)$ ,  $a(t) \neq 0$  for all  $t \in J$ ,  $E_n$  is the identity matrix and for the matrix  $A_n$  are  $a_{i1} = -1$ ,  $a_{1i} = a_{ni} = a_{in} = 1$ , if  $i = 1, 2, \ldots, n-1$  and the others  $a_{ij} = 0, j = 1, 2, \ldots, n, n \in N, n \geq 3$ . We denote

Received: August 14, 2008 © 2009 Academic Publications <sup>§</sup>Correspondence author

A. Macurova, D. Macura

$$g_1(t, x(t)) = b(t)x_1 + a(t)\sum_{j=2}^{n-1} x_j,$$
  

$$g_i(t, x(t)) = b(t)x_i + a(t)(-x_1 + x_n), \text{ if } i = 2, 3, \dots, n-1,$$
  

$$g_n(t, x(t)) = b(t)x_n + a(t)\sum_{j=2}^{n-1} x_j.$$

Here one and only one integral curve of the system (1) passes through every point  $(t, x(t)) \in J \times \mathbb{R}^n$ , because the partial derivatives  $\partial g_i / \partial x_j$ ,  $i, j \in \{1, 2, \ldots, n\}$  are the continuous functions [6].

We apply to the system (1) the new method for determined the fundamental matrix.

We denote the matrix

$$D_n(t) = a(t)A_n + (b(t) - \lambda(t))E_n.$$
(2)

**Definition 1.** The function  $\lambda(t)$  which is the solution of the auxiliary equation  $|D_n(t)| = 0$ , is called the eigenfunction of the system (1), see [2].

**Theorem 2.** Let the function  $\lambda(t)$  is the eigenfunction of the matrix system (1), then for every  $n \in N, n \geq 3$ ;  $|D_n(t)| = (b(t) - \lambda(t))^n$ .

*Proof.* According to (2), we can write

$$|D_n(t)| = \begin{vmatrix} z(t) & b_{n-2}(t) & 0\\ -b_{n-2}^T(t) & z(t)E_{n-2} & b_{n-2}^T(t)\\ 0 & b_{n-2}(t) & z(t) \end{vmatrix},$$

where  $z(t) = b(t) - \lambda(t)$  and  $b_{n-2}(t) = a(t)(1, 1, ..., 1) \in \mathbb{R}^{n-2}$ . Moreover

$$|D_n(t)| = \begin{vmatrix} z(t) & b_{n-2}(t) & 0\\ -b_{n-2}^T(t) & z(t)E_{n-2} & b_{n-2}^T(t)\\ 0 & b_{n-2}(t) & z(t) \end{vmatrix} = \begin{vmatrix} z(t) & b_{n-2}(t) & 0\\ 0 & z(t)E_{n-2} & b_{n-2}^T(t)\\ z(t) & b_{n-2}(t) & z(t) \end{vmatrix}$$

$$= \begin{vmatrix} z(t) & b_{n-2}(t) & 0\\ 0 & z(t)E_{n-2} & b_{n-2}^{T}(t)\\ 0 & 0 & z(t) \end{vmatrix} = z^{2}(t) |z(t)E_{n-2}| = z^{n}(t) = (b(t) - \lambda(t))^{n}. \square$$

**Theorem 3.** For every  $n \in N$ ,  $n \ge 3$ ;  $A_n^3 = O_n$ .

*Proof.* For the matrix  $A_n$  it follows

$$A_n = \begin{pmatrix} 0 & I_{n-2} & 0 \\ -I_{n-2}^T & O_{n-2} & I_{n-2}^T \\ 0 & I_{n-2} & 0 \end{pmatrix},$$

where  $I_{n-2} = (1, 1, ..., 1) \in \mathbb{R}^{n-2}$ ,  $O_{n-2}$  is the square zero matrix. Denote  $o_{n-2} = (0, 0, ..., 0) \in \mathbb{R}^{n-2}$ . Then

$$A_n^2 = \begin{pmatrix} 0 & I_{n-2} & 0 \\ -I_{n-2}^T & O_{n-2} & I_{n-2}^T \\ 0 & I_{n-2} & 0 \end{pmatrix} \begin{pmatrix} 0 & I_{n-2} & 0 \\ -I_{n-2}^T & O_{n-2} & I_{n-2}^T \\ 0 & I_{n-2} & 0 \end{pmatrix}$$
$$= \begin{pmatrix} 2-n & o_{n-2} & n-2 \\ o_{n-2}^T & O_{n-2} & o_{n-2}^T \\ 2-n & o_{n-2} & n-2 \end{pmatrix},$$
$$A_n^3 = \begin{pmatrix} 2-n & o_{n-2} & n-2 \\ o_{n-2}^T & O_{n-2} & o_{n-2}^T \\ 2-n & o_{n-2} & n-2 \end{pmatrix} \begin{pmatrix} 0 & I_{n-2} & 0 \\ -I_{n-2}^T & O_{n-2} & I_{n-2}^T \\ 0 & I_{n-2} & 0 \end{pmatrix}$$

$$= \begin{pmatrix} 0 & o_{n-2} & 0\\ o_{n-2}^T & O_{n-2} & o_{n-2}^T\\ 0 & o_{n-2} & 0 \end{pmatrix}.$$
e proof of Theorem 3 is complete.

The proof of Theorem 3 is complete.

### 2. New Results

**Theorem 4.** Let is denote the system (1). If we denote  $P_0 = E_n, P_1 = A_n, \ldots, P_{m-1} = A_n^{m-1}, m = n-1$  and

$$q_{1}(t) = \exp \int_{t_{0}}^{t} b(s)ds,$$

$$q_{2}(t) = \int_{t_{0}}^{t} a(s_{1})ds_{1} \exp \int_{t_{0}}^{t} b(s)ds,$$

$$\vdots$$

$$q_{m}(t) = \int_{t_{0}}^{t} \int_{t_{0}}^{s_{m-1}} \dots \int_{t_{0}}^{s_{2}} \prod_{i=1}^{m-1} a(s_{i})ds_{1}ds_{2} \dots ds_{m-1} \exp \int_{t_{0}}^{t} b(s)ds,$$

then the fundamentally matrix of system (1) has the form

$$U(t) = q_1(t)P_0 + q_2(t)P_1 + \dots + q_m(t)P_{m-1},$$
(3)

and the general solution of the system (1) is

$$x(t) = U(t)C,$$

where  $C = (c_1, c_2, \ldots, c_n)^T$  is a constant vector.

Proof. According to Theorem 2, for eigenfunctions of system (1) it follows

$$\lambda_1(t) = \lambda_2(t) = \dots = \lambda_n(t) = b(t). \text{ The functions}$$

$$q_1(t) = \exp \int_{t_0}^t b(s) ds,$$

$$q_2(t) = \int_{t_0}^t a(s_1) ds_1 \exp \int_{t_0}^t b(s) ds,$$

$$\vdots$$

$$\vdots$$

$$\int_{t_0}^t \int_{t_0}^{s_{m-1}} \int_{t_0}^{s_2} \int_{t_0}^{m-1} ds_1 ds_2 ds_2 ds_3$$

 $q_m(t) = \int_{t_0}^t \int_{t_0}^{s_{m-1}} \dots \int_{t_0}^{s_2} \prod_{i=1}^{m-1} a(s_i) ds_1 ds_2 \dots ds_{m-1} \exp \int_{t_0}^t b(s) ds,$ 

are the solutions of differential equations (see [1])

$$\begin{array}{rcl} q_1'(t) &=& b(t)q_1(t), & q_1(t_0) &=& 1, \\ q_2'(t) &=& b(t)q_2(t) + a(t)q_1(t), & q_2(t_0) &=& 0, \\ &\vdots & & \\ q_m'(t) &=& b(t)q_m(t) + a(t)q_{m-1}(t), & q_m(t_0) &=& 0. \end{array}$$

We shall prove, that the matrix  $U(t) = \sum_{i=1}^{m} q_i(t) P_{i-1}$  is the fundamentally matrix of system (1). Differentiating the equation (3) we get

$$U'(t) = \sum_{i=1}^{m} q_i(t) P_{i-1} = b(t)q_1(t)P_0 + \sum_{i=2}^{m} (b(t)q_i(t) + a(t)q_{i-1}(t))P_{i-1}$$
$$= b(t)\sum_{i=1}^{m} q_i(t)P_{i-1} + a(t)\sum_{i=1}^{m-1} q_i(t)P_i = b(t)U(t) + a(t)\sum_{i=1}^{m} q_i(t)P_i.$$

According to Theorem 3 it follows  $P_m = P_{m-1}P_1 = A_n^m = O_n$ . Then  $U'(t) = b(t)U(t) + a(t)P_1 \sum_{i=1}^m q_i(t)P_{i-1} = (b(t)P_0 + a(t)P_1)U(t)$ , hence U is the fundamental matrix of system (1), i.e. the columns of matrix U are the linear independent solutions of differential system (1). The general solution of system (1) has the form [3]

$$x(t) = U(t)C\,,$$

where  $C = (c_1, c_2, \ldots, c_n)^T$  is a constant vector.

The proof of Theorem 4 is complete.

#### 3. Example

We consider the differential system

$$\begin{pmatrix} x_1(t) & \cdot \\ x_2(t) \\ x_3(t) \\ x_4(t) \end{pmatrix} = \begin{pmatrix} b(t) & a(t) & a(t) & 0 \\ -a(t) & b(t) & 0 & a(t) \\ -a(t) & 0 & b(t) & a(t) \\ 0 & a(t) & a(t) & b(t) \end{pmatrix} \begin{pmatrix} x_1(t) \\ x_2(t) \\ x_3(t) \\ x_4(t) \end{pmatrix},$$
(4)

where  $a(t), b(t) \in C_0(J = \langle t_0, \infty), R), a(t) \neq 0$  for all  $t \in J$ .

By generalized the method of the eigenvalue and eigenvector for the linear differential system with the constant coefficients the integral equations system is expressed and is equipollent with the system (4).

We denote the matrix of the system (4) as follows

$$B(t) = \begin{pmatrix} b(t) & a(t) & a(t) & 0\\ -a(t) & b(t) & 0 & a(t)\\ -a(t) & 0 & b(t) & a(t)\\ 0 & a(t) & a(t) & b(t) \end{pmatrix}.$$

The function  $\lambda(t)$  which is the solution of the equation  $\det(B(t) - \lambda(t)E_4) = 0$ , where  $E_4$  is the identity matrix, we shall call eigenfunction of system (4).

The vector function h(t) which is the solution of the equation

$$(B(t) - \lambda(t)E_4)h(t) = 0,$$

is called own vector function related to own function  $\lambda(t)$  of system (4).

**Theorem 5.** The general solution of system (4) has the form  $x(t) = (\xi_1(t), \xi_2(t), \xi_3(t), \xi_4(t))C$ , where  $C = (c_1, c_2, c_3, c_4)^T$  is a constant vector and the vector functions  $\xi_1(t), \xi_2(t), \xi_3(t), \xi_4(t)$  is

$$\begin{split} \xi_1(t) &= \left( (1,0,0,0)^T + (0,-1,-1,0)^T \int_{t_0}^t a(s) ds \right. \\ &+ \left. (-2,0,0,-2)^T \int_{t_0}^t \left( a(s) \int_{t_0}^s a(u) du \right) ds \right) \exp \int_{t_0}^t b(s) ds, \\ \xi_2(t) &= \left( (0,1,0,0)^T + (1,0,0,1)^T \int_{t_0}^t a(s) ds \right) \exp \int_{t_0}^t b(s) ds, \\ \xi_3(t) &= \left( (0,0,1,0)^T + (1,0,0,1)^T \int_{t_0}^t a(s) ds \right) \exp \int_{t_0}^t b(s) ds, \\ \xi_4(t) &= \left( (0,0,0,1)^T + (0,1,1,0)^T \int_{t_0}^t a(s) ds \right) \end{split}$$

A. Macurova, D. Macura

+ 
$$(2,0,0,2)^T \int_{t_0}^t \left(a(s)\int_{t_0}^s a(u)du\right)ds \exp \int_{t_0}^t b(s)ds.$$

*Proof.* The eigenfunctions of the system (4) are  $\lambda_{1234}(t) = b(t)$ . We construct matrix sequence

$$P_0 = E_4,$$

$$P_1 = (B(t) - b(t)E_4)/a(t) = \begin{pmatrix} 0 & 1 & 1 & 0 \\ -1 & 0 & 0 & 1 \\ -1 & 0 & 0 & 1 \\ 0 & 1 & 1 & 0 \end{pmatrix}, P_2 = P_1^2 = \begin{pmatrix} -2 & 0 & 0 & 2 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ -2 & 0 & 0 & 2 \end{pmatrix},$$

and consider the differential equations

$$q_1'(t) = b(t)q_1(t), \qquad q_1(t_0) = 1,$$
(5)

$$q_2'(t) = b(t)q_2(t) + a(t)q_1(t), \qquad q_2(t_0) = 0,$$
 (6)

$$q_3'(t) = b(t)q_3(t) + a(t)q_2(t), \qquad q_3(t_0) = 0.$$
 (7)

The solutions of the differential equations (6), (7) and (8) are functions

$$q_1(t) = \exp \int_{t_0}^t b(s) ds, \tag{8}$$

$$q_2(t) = \int_{t_0}^t a(s)ds \exp \int_{t_0}^t b(s)ds,$$
 (9)

$$q_{3}(t) = \int_{t_{0}}^{t} \left( a(s) \int_{t_{0}}^{s} a(u) du \right) ds \exp \int_{t_{0}}^{t} b(s) ds.$$
(10)

We shall prove, that the matrix

$$U(t) = q_1(t)P_0 + q_2(t)P_1 + q_3(t)P_2$$
(11)

is the fundamental matrix of the system (4). Differentiating the equation (11), we obtain

 $\begin{aligned} U'(t) &= q_1'(t)P_0 + q_2'(t)P_1 + q_3'(t)P_2 = b(t)q_1(t)P_0 + (b(t)q_2(t) + a(t)q_1(t))P_1 + \\ (b(t)q_3(t) + a(t)q_2(t))P_2 &= b(t)(q_1(t)P_0 + q_2(t)P_1 + q_3(t)P_2) + a(t)(q_1(t)P_1 + \\ q_2(t)P_2) &= b(t)U(t) + a(t)(q_1(t)P_1 + q_2(t)P_2 + q_3(t)P_3), \text{ where } P_3 = P_2P_1 = 0. \end{aligned}$ 

Since  $U'(t) = b(t)U(t) + a(t)P_1(q_1(t)P_0 + q_2(t)P_1 + q_3(t)P_2) = (b(t) + a(t)P_1)U(t) = B(t)U(t)$ , the matrix U is the fundamental matrix of system (1), i.e. the columns of matrix U are the linear independent solutions of differential system (4). The general solution of system (4) has the form

$$x(t) = U(t).C,$$

where  $C = (c_1, c_2, c_3, c_4)^T$  is a constant vector. The proof is complete.

The authors have investigated system of quasilinear differential equations

168

with matrix  $A = \begin{pmatrix} 0 & a_{12} & a_{13} \\ -a_{12} & 0 & a_{23} \\ -a_{13} & a_{23} & 0 \end{pmatrix}$ , where  $a_{ij} \neq 0, 1 \le i < j \le 3$  are real numbers (see [4]). In the paper [5] is investigated system of linear differential equations with matrix  $A = \begin{pmatrix} 0 & 1 & 0 \\ -1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix}$ . The asymptotic and oscillatory properties of solutions of the non-linear differential systems are investigated in the paper [10].

#### References

- M. Balara et al, Optimization and Robustification Mecatronical Dynamical Systems, Technical University of Kosice, Presov (2006).
- [2] M. Gregus, M. Svec, V. Seda, Ordinary Differentiale Equations, Bratislava (1985).
- [3] W.W. Hines, D.C. Montgomery, Probability and Statistics in Engineering and Management Science, Willey, New York (1990).
- [4] K. Hrubina et al, Optimal Control of Processes Based on the Use of Informatics Methods, Informatech, Ltd., Kosice (2005).
- [5] V. Jarnik, Integral Calculus II, Academia, Prague (1976).
- [6] J. Kurzweil, Ordinary Differential Equations, Prague (1978).
- [7] D. Macura, A. Macurova, About of the three quasilinear differential equations first order with a special matrix, In: Application of Geometry in Technical Praxis, Kosice (1997), 123-129.
- [8] D. Macura, A. Macurova, On boundedness and oscillatoricity of solutions of non-linear differential systems, In: *International Scientific Conference* of Mathematics, Zilina (1998), 153-160.
- [9] D. Macura, A. Macurova, On a transformation by means of the generalized c-hyperbolic coordinates, In: Annals of DAAAM for 2004 and Proceedings of the 15-th International DAAAM Symposium, Vienna (2004), 261-262.
- [10] A. Macurova, About Solution of the Non-Linear Differential Equations, Technical University of Kosice, Presov (2007).

- [11] P. Marusiak, J. Moravcik, *Mathematics II*, University of Zilina, Zilina (1996).
- [12] J. Nagy, Ordinary Differential Equations, SNTL, Prague (1983).
- [13] L. S. Pontrjagin, Ordinary Differential Equations, Nauka, Moscow (1982).
- [14] A. Tirpakova, Using the computers at the teaching applied statistic, In: *Prastan*, Slovak Technical University, Bratislava (2000).
- [15] F. Verfulst, Nonlinear Differential Equations and Dynamical Systems, Springer-Verlag, Berlin-Göttingen-Heidelberg (1990).
- [16] E. Weyr, About Bilinear Form Theory, Prague (1898).